

County Distribution Detail Report through 12/03/2015

Auro	ra
------	----

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount
40/0045	4.000	4 000		2.422	\$2,000.7F	¢04.0₹	¢2.042.40	Percent	#0.000.74
10/2015	1,289	1,829	5	3,123	\$3,903.75	\$91.27	\$3,812.48	0.70	\$2,668.74
							Entity Tot	al:	\$2,668.74
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,668.74
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	0	0	5	5	\$6.25	\$0.00	\$6.25	0.70	\$4.38
10/2015	4,868	10,059	35	14,962	\$18,702.50	\$385.47	\$18,317.03	0.70	\$12,821.92
							Entity Tot	al:	\$12,826.30
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$12,826.30
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	962	1,046	2	2,010	\$2,512.50	\$57.62	\$2,454.88	0.70	\$1,718.42
							Entity Tot	al:	\$1,718.42
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,718.42
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	2,421	3,595	10	6,026	\$7,532.50	\$150.78	\$7,381.72	0.70	\$5,167.20
							Entity Tot	al:	\$5,167.20

Adjustment:	\$0.00

Percent

0.70

\$4.38

\$6.25

Total Amount: \$5,167.20

Brookings	
-----------	--

6/2015

Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount
			Lines		J		· ·	Percent	•
10/2015	10,530	19,270	93	29,893	\$37,366.25	\$760.95	\$36,605.30	0.70	\$25,623.71
							Entity Tota	ıl:	\$25,623.71
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$25,623.71
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	12,831	24,656	171	37,658	\$47,072.50	\$993.20	\$46,079.30	0.70	\$32,255.51
							Entity Tota	ıl:	\$32,255.51
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$32,255.51
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	2,824	3,469	4	6,297	\$7,871.25	\$162.39	\$7,708.86	0.70	\$5,396.20
							Entity Tota	ıl:	\$5,396.20
							Adjustment:		\$0.00
							Total Amo	unt:	\$5,396.20
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	641	367	1	1,009	\$1,261.25	\$26.48	\$1,234.77	0.70	\$864.34
							Entity Tota	nl:	\$864.34
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$864.34
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

Lines

0

0

5

5

\$6.25

\$0.00

10/2015	3,147	6,014	14	9,175	\$11,468.75	\$236.33	\$11,232.42	0.70	\$7,862.69
							Entity Tota	l:	\$7,867.07
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$7,867.07
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	867	1,441	2	2,310	\$2,887.50	\$59.40	\$2,828.10	0.70	\$1,979.67
							Entity Tota	l:	\$1,979.67
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$1,979.67
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	3,328	4,987	8	8,323	\$10,403.75	\$210.51	\$10,193.24	0.70	\$7,135.27
							Entity Tota	l:	\$7,135.27
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$7,135.27
City of Box Elder, M	leade Cc								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	55	11	0	66	\$82.50	\$4.11	\$78.39	0.70	\$54.87
							Entity Tota	l:	\$54.87
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$54.87
City of North Sioux	City, Un								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	10	10	\$12.50	\$0.71	\$11.79	0.70	\$8.25
2/2015	0	0	10	10	\$12.50	\$0.71	\$11.79	0.70	\$8.25
3/2015	0	0	10	10	\$12.50	\$0.71	\$11.79	0.70	\$8.25
4/2015	0	0	10	10	\$12.50	\$0.71	\$11.79	0.70	\$8.25
5/2015	0	0	10	10	\$12.50	\$0.71	\$11.79	0.70	\$8.25
6/2015	0	0	10	10	\$12.50	\$0.74	\$11.76	0.70	\$8.23

7/2015	0	0	10	10	\$12.50	\$0.74	\$11.76	0.70	\$8.23
8/2014	0	0	10	10	\$12.50	\$0.71	\$11.79	0.70	\$8.25
8/2015	0	0	10	10	\$12.50	\$0.74	\$11.76	0.70	\$8.23
9/2014	0	0	10	10	\$12.50	\$0.71	\$11.79	0.70	\$8.25
9/2015	0	0	10	10	\$12.50	\$0.74	\$11.76	0.70	\$8.23
10/2014	0	0	10	10	\$12.50	\$0.71	\$11.79	0.70	\$8.25
10/2015	895	73	43	1,011	\$1,263.75	\$38.62	\$1,225.13	0.70	\$857.59
11/2014	0	0	10	10	\$12.50	\$0.71	\$11.79	0.70	\$8.25
12/2014	0	0	10	10	\$12.50	\$0.71	\$11.79	0.70	\$8.25
							Entity Tota	al:	\$973.01
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$973.01
City of Sioux Falls,	Lincoln								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	6,085	1,247	104	7,436	\$9,295.00	\$236.17	\$9,058.83	0.70	\$6,341.18
							Entity Tota	al:	\$6,341.18
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,341.18
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	1,670	2,460	2	4,132	\$5,165.00	\$103.31	\$5,061.69	0.70	\$3,543.18
							Entity Tota	al:	\$3,543.18
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,543.18
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	2,147	7,007	56	9,210	\$11,512.50	\$242.25	\$11,270.25	0.70	\$7,889.18
							Entity Tota	al:	\$7,889.18
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,889.18
Codington									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	9,196	18,314	80	27,590	\$34,487.50	\$717.93	\$33,769.57	0.70	\$23,638.70
							Entity Tota	al:	\$23,638.70
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$23,638.70
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2015	0	0	2	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
9/2015	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
10/2015	1,507	467	4	1,978	\$2,472.50	\$57.52	\$2,414.98	0.70	\$1,690.49
							Entity Tota	al:	\$1,693.12
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,693.12
uster									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	3,889	4,683	24	8,596	\$10,745.00	\$241.15	\$10,503.85	0.70	\$7,352.70
							Entity Tota	al:	\$7,352.70
							Adjustme	nt:	\$0.00
							Total Amount:		\$7,352.70
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	6,809	13,211	144	20,164	\$25,205.00	\$518.00	\$24,687.00	0.70	\$17,280.90
							Entity Tota	al:	\$17,280.90
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$17,280.90
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	2,631	3,452	3	6,086	\$7,607.50	\$152.61	\$7,454.89	0.70	\$5,218.42
							Entity Tota	al:	\$5,218.42

Adjustment:	\$0.00

0.70

\$2,066.79

Total Amount: \$5,218.42

Deue

10/2015

1,033

1,374

4

2,411

\$3,013.75

\$61.19

\$2,952.56

Deuei									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	2,263	2,783	5	5,051	\$6,313.75	\$139.79	\$6,173.96	0.70	\$4,321.77
							Entity Tota	ıl:	\$4,321.77
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,321.77
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	1,464	2,041	4	3,509	\$4,386.25	\$88.27	\$4,297.98	0.70	\$3,008.59
							Entity Tota	ıl:	\$3,008.59
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,008.59
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	1,533	2,693	7	4,233	\$5,291.25	\$105.91	\$5,185.34	0.70	\$3,629.74
							Entity Tota	ıl:	\$3,629.74
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,629.74
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	3,614	3,965	17	7,596	\$9,495.00	\$191.69	\$9,303.31	0.70	\$6,512.32
							Entity Tota	ıl:	\$6,512.32
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,512.32
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

							•		·
							Total Amo	unt:	\$2,066.79
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	2,819	5,170	122	8,111	\$10,138.75	\$227.79	\$9,910.96	0.70	\$6,937.67
							Entity Tota	al:	\$6,937.67
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$6,937.67
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	2,021	3,504	3	5,528	\$6,910.00	\$149.30	\$6,760.70	0.70	\$4,732.49
							Entity Tota	al:	\$4,732.49
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,732.49
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	1,095	1,378	5	2,478	\$3,097.50	\$61.97	\$3,035.53	0.70	\$2,124.87
							Entity Tota	al:	\$2,124.87
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,124.87
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	2,099	3,497	7	5,603	\$7,003.75	\$140.10	\$6,863.65	0.70	\$4,804.56
							Entity Tota	al:	\$4,804.56
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,804.56
Hand									

Entity Total:

Adjustment:

\$2,066.79

\$0.00

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	0	0	2	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
10/2015	1,393	2,560	10	3,963	\$4,953.75	\$99.27	\$4,854.48	0.70	\$3,398.14
							Entity Tota	al:	\$3,399.89
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$3,399.89
lanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	1,094	2,846	22	3,962	\$4,952.50	\$100.13	\$4,852.37	0.70	\$3,396.66
							Entity Tota	al:	\$3,396.66
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$3,396.66
larding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	759	796	1	1,556	\$1,945.00	\$48.55	\$1,896.45	0.70	\$1,327.52
							Entity Total	al:	\$1,327.52
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,327.52
lughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	5,615	14,073	133	19,821	\$24,776.25	\$524.57	\$24,251.68	0.70	\$16,976.18
							Entity Tota	al:	\$16,976.18
							Adjustme	nt:	\$0.00
hatali la a a a							Total Amo	unt:	\$16,976.18
lutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	3,466	4,870	8	8,344	\$10,430.00	\$208.62	\$10,221.38	0.70	\$7,154.97
							Entity Tota	al:	\$7,154.97
							Adjustme	nt:	\$0.00

Total Amount: \$7	7,154.97
-------------------	----------

Hyde	
------	--

•									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	854	1,035	2	1,891	\$2,363.75	\$48.53	\$2,315.22	0.70	\$1,620.65
							Entity Tot	al:	\$1,620.65
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,620.65
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	770	823	0	1,593	\$1,991.25	\$39.85	\$1,951.40	0.70	\$1,365.98
							Entity Tot	al:	\$1,365.98
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,365.98
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	1,063	1,211	0	2,274	\$2,842.50	\$56.86	\$2,785.64	0.70	\$1,949.95
							Entity Tot	al:	\$1,949.95
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,949.95
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	625	648	3	1,276	\$1,595.00	\$31.92	\$1,563.08	0.70	\$1,094.16
							Entity Tot	al:	\$1,094.16
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,094.16
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	0	0	3	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
7/2015	0	0	3	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63

	_	_		_					•
8/2015	0	0	2	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
9/2015	0	0	2	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
10/2015	1,725	3,909	6	5,640	\$7,050.00	\$144.42	\$6,905.58	0.70	\$4,833.91
							Entity Tota	ıl:	\$4,842.67
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,842.67
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	3,421	9,001	28	12,450	\$15,562.50	\$324.59	\$15,237.91	0.70	\$10,666.54
							Entity Tota	ıl:	\$10,666.54
							Adjustment: Total Amount:		\$0.00
									\$10,666.54
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	0	0	55	55	\$68.75	\$0.00	\$68.75	0.70	\$48.13
7/2015	0	0	9	9	\$11.25	\$0.00	\$11.25	0.70	\$7.88
8/2015	0	0	7	7	\$8.75	\$0.00	\$8.75	0.70	\$6.13
9/2015	0	0	8	8	\$10.00	\$0.00	\$10.00	0.70	\$7.00
10/2015	9,866	15,183	64	25,113	\$31,391.25	\$649.29	\$30,741.96	0.70	\$21,519.37
							Entity Tota	nl:	\$21,588.51
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$21,588.51
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	0	0	16	16	\$20.00	\$0.00	\$20.00	0.70	\$14.00
7/2015	0	0	1	1	\$1.25	\$0.00	\$1.25	0.70	\$0.88
8/2015	226	0	1	227	\$283.75	\$0.00	\$283.75	0.70	\$198.63

10/2015

6,577

36,451

487

43,515

\$54,393.75

\$1,162.84

Entity Total: \$37,672.03 Adjustment: \$0.00

0.70

\$37,261.64

\$53,230.91

Total Amount:	\$37,672.03
i otal Allioulit.	Ψ31,01 Z.03

L	v	n	าล	ın
	• .			

7/2015

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	1,459	1,828	1	3,288	\$4,110.00	\$88.40	\$4,021.60	0.70	\$2,815.12
							Entity Tota	al:	\$2,815.12
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$2,815.12
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	2,071	2,682	8	4,761	\$5,951.25	\$121.82	\$5,829.43	0.70	\$4,080.60
							Entity Total	al:	\$4,080.60
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$4,080.60
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	2,751	4,100	8	6,859	\$8,573.75	\$171.54	\$8,402.21	0.70	\$5,881.55
							Entity Tota	al:	\$5,881.55
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$5,881.55
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	1,202	1,435	1	2,638	\$3,297.50	\$78.94	\$3,218.56	0.70	\$2,252.99
							Entity Tota	al:	\$2,252.99
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$2,252.99
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	0	0	25	25	\$31.25	\$0.00	\$31.25	0.70	\$21.88

2

2

\$2.50

\$0.00

\$2.50

0.70

\$1.75

8/2015	0	0	2	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
9/2015	0	0	2	2	\$2.50	\$0.00	\$2.50	0.70	\$1.75
10/2015	4,864	17,511	191	22,566	\$28,207.50	\$599.24	\$27,608.26	0.70	\$19,325.78
							Entity Tota	al:	\$19,352.91
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$19,352.91
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	637	599	0	1,236	\$1,545.00	\$30.92	\$1,514.08	0.70	\$1,059.86
							Entity Tota	al:	\$1,059.86
							Adjustmer	nt:	\$0.00
							Total Amo	Total Amount:	
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	1,164	1,533	2	2,699	\$3,373.75	\$67.80	\$3,305.95	0.70	\$2,314.17
							Entity Tota	al:	\$2,314.17
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,314.17
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	51,270	138,567	1,546	191,383	\$239,228.75	\$5,065.77	\$234,162.98	0.70	\$163,914.09
							Entity Tota	al:	\$163,914.09
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$163,914.09
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	1,701	4,353	10	6,064	\$7,580.00	\$175.64	\$7,404.36	0.70	\$5,183.05
							Entity Tota	al:	\$5,183.05
							Adjustmer	nt:	\$0.00

Total Amount: \$5,183.05

_	-		
Pen	nın	gton	
		gion	

Sanborn

· cg.c									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2015	0	0	64	64	\$80.00	\$0.00	\$80.00	0.70	\$56.00
7/2015	0	0	6	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
8/2015	0	0	6	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
9/2015	0	0	6	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
10/2015	33,269	69,386	538	103,193	\$128,991.25	\$2,683.38	\$126,307.87	0.70	\$88,415.51
							Entity Tota	al:	\$88,487.26
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$88,487.26
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	1,936	2,394	6	4,336	\$5,420.00	\$118.39	\$5,301.61	0.70	\$3,711.13
							Entity Tota	al:	\$3,711.13
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,711.13
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	1,504	1,662	4	3,170	\$3,962.50	\$79.27	\$3,883.23	0.70	\$2,718.26
							Entity Tota	al:	\$2,718.26
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,718.26
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	4,226	4,474	10	8,710	\$10,887.50	\$239.92	\$10,647.58	0.70	\$7,453.31
							Entity Tota	al:	\$7,453.31
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,453.31
_									•

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	1,021	1,769	0	2,790	\$3,487.50	\$69.77	\$3,417.73	0.70	\$2,392.41
							Entity Tota	al:	\$2,392.41
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,392.41
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	2,374	4,426	31	6,831	\$8,538.75	\$174.33	\$8,364.42	0.70	\$5,855.09
							Entity Tota	al:	\$5,855.09
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,855.09
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	894	2,129	16	3,039	\$3,798.75	\$78.46	\$3,720.29	0.70	\$2,604.20
							Entity Tota	al:	\$2,604.20
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,604.20
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	890	1,087	1	1,978	\$2,472.50	\$49.46	\$2,423.04	0.70	\$1,696.13
							Entity Tota	al:	\$1,696.13
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,696.13
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	0	14	4	18	\$22.50	\$1.39	\$21.11	0.70	\$14.78
							Entity Tota	al:	\$14.78
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$14.78

_			
т	rı	n	n
		v	v

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	2,781	3,741	7	6,529	\$8,161.25	\$164.48	\$7,996.77	0.70	\$5,597.74
							Entity Total	:	\$5,597.74
							Adjustmen	::	\$0.00
							Total Amou	int:	\$5,597.74
Turner									

Turner

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	2,637	5,789	16	8,442	\$10,552.50	\$213.87	\$10,338.63	0.70	\$7,237.04
							Entity Tota	ıl:	\$7,237.04
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$7,237.04

Union

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2015	0	0	-10	-10	\$-12.50	\$-0.71	\$-11.79	0.70	\$-8.25
2/2015	0	0	-10	-10	\$-12.50	\$-0.71	\$-11.79	0.70	\$-8.25
3/2015	0	0	-10	-10	\$-12.50	\$-0.71	\$-11.79	0.70	\$-8.25
4/2015	0	0	-10	-10	\$-12.50	\$-0.71	\$-11.79	0.70	\$-8.25
5/2015	0	0	-10	-10	\$-12.50	\$-0.71	\$-11.79	0.70	\$-8.25
6/2015	0	0	-8	-8	\$-10.00	\$-0.74	\$-9.26	0.70	\$-6.48
7/2015	0	0	-9	-9	\$-11.25	\$-0.74	\$-10.51	0.70	\$-7.36
8/2014	0	0	-10	-10	\$-12.50	\$-0.71	\$-11.79	0.70	\$-8.25
8/2015	968	0	-9	959	\$1,198.75	\$-0.74	\$1,199.49	0.70	\$839.64
9/2014	0	0	-10	-10	\$-12.50	\$-0.71	\$-11.79	0.70	\$-8.25
9/2015	966	0	-9	957	\$1,196.25	\$-0.74	\$1,196.99	0.70	\$837.89
10/2014	0	0	-10	-10	\$-12.50	\$-0.71	\$-11.79	0.70	\$-8.25
10/2015	4,865	11,674	40	16,579	\$20,723.75	\$473.94	\$20,249.81	0.70	\$14,174.87
11/2014	0	0	-10	-10	\$-12.50	\$-0.71	\$-11.79	0.70	\$-8.25
12/2014	0	0	-10	-10	\$-12.50	\$-0.71	\$-11.79	0.70	\$-8.25

Entity Total: \$15,756.06 Adjustment: \$0.00 **Total Amount:** \$15,756.06

Walworth

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	2,544	3,523	9	6,076	\$7,595.00	\$153.16	\$7,441.84	0.70	\$5,209.29
							Entity Total	:	\$5,209.29
							Adjustment	:	\$0.00
							Total Amou	nt:	\$5,209.29
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
10/2015	6,865	14,522	38	21,425	\$26,781.25	\$548.97	\$26,232.28	0.70	\$18,362.60
							Entity Total	:	\$18,362.60
							Adjustment	:	\$0.00
							Total Amou	nt:	\$18,362.60
Totals	269,070	546,667	4,471	820,208	\$ 1,025,260.00	\$ 21,500.38	\$1,003,759.62		